Potencias de 10 (F)

96+ 1072

701072

251072

3+1072

8+1072

9102

221072

54102

27 =102

42 = 1072

Calcule los siguientes cocientes.

521072

701072

611072

38+ 1072

55+1072

231072

33+1072

39 =102

57102

47 = 1072
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Potencias de 10 (F) Respuestas

96 =102
9.600
70+ 1072
7.000
251072
2.500
3+1072
300
8§+10772
800
9102
900
22+1072
2.200
541072
5.400
271072
2.700
42 +1072
4.200

Calcule los siguientes cocientes.

521072
5.200
70+1072
7.000
61102
6.100
381072
3.800
551072
5.500
231072
2.300
331072
3.300
391072
3.900
571072
5.700
47 +1072
4.700
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